Paper / Subject Code: 66703 / Corporate Finance @-E’_Q”Z@(g

M Covn ~ T
Sem ~ X _
Time: 2 Hours Total Marks: 60 -

N. B.: (1) All questions are compulsory carrying equal marks.
(2) Support your answer with required working notes. R A S
(3) Round off upto two decimal points. > ST A SRS ASE
(4) Use of simple calculator is allowed. ' ' SO

Q.1: Complete the following Balance Sheet from the information givcn'be[bw; . '[15 Marks]

Balance Sheet as on 31 March, 2018

Liabilities Amount(Rs.) Assets Amount(Rs.)
Equity Share Capital (of ? Fixed Assetss™ & o2 Ea o '
Rs.100 each) Current Assets: SR R
Reserves and Surplus ? Stock i
10% Debentures 4,00,000 Debtors o
Current Liabilities: Other Current Assets PAE
Sundry Creditors ?
Other Current Liabilities 2,00,000 : :

2 ?

Following information is avallable‘

1. Sales for the year Rs: 48 oo 000 A R o
2. Gross Profit Ratio is 25% :

3. Net Profit after tax Rs.2,00,000

4. Purchases and Sales are on credit basis

5. Debtors Turnover Ratio(Sales/ Debtors) = 12 times

6. Creditors Turnover- Ratio" (Cost of salesf Cred1t0rs) = 12 times

7. Earnings.Per ShareRs“ZO

8. Stock Tumover Ratio = 10 times -

9. DebtEquity Ratio 0. 25 1

10. Current Ratio 1.6:1

OR *

Q.1: From the following. mformanon available for 4 firms, calculate the Earnings Before
Interest and Tax (EBIT), Earnings Per Share (EP §), the Operating Leverage and the Financial

Leverage _ s _ [15 Marks]
Particulars Firms
~ ~ |- Rita Mita Rishi Miti
Sales (in umts) . | ¥20,000 25,000 30,000 40,000
Selling price: per unit (Rs Y P 15 20 25 30
Variable cost per umt (Rs:) 10 15 20 25
Fixed cost (Rs. ) - 30,000 40,000 50,000 60,000
- {Interest (Rs: ) g 15,000 25,000 35,000 40,000
TTaxs(lo) o o 40 40 40 40
‘Number of Equity Shares 5,000 9,000 10,000 12,000
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Q.2: The following is the Capital Structure of Simons Company Ltd as on 31 March,’ :2018:" G o -.'-”’._;.'--':\_'

Equity Shares: 10,000 shares (of Rs.100 each) Rs.10,00,000 |

10% Preference Shares (of Rs.100 each) Rs. 4,00,000
12% Debentures Rs. 6,00,000
TOTAL _ Rs.20,00,000

The market price of the company’s share is Rs.110 and-it is expected that a dividend
of Rs.10 per share would be declared for the year 2018.4° = ) '
The dividend growth rate is 6%: :

1. If the company is in the 50% tax’bracket, compute the Weighted Averagé_ C.d'st of
Capial. :

2. Assuming that in order to finance an expansion plan , the company intends to
borrow a fund of Rs.10,00,000 bearing 14% rate of interest , what will be the
company’s revised weighted average cost of capital? This financing decision is
expected to increase dividend from Rs.10 to Rs:12 per share: However, the market
price of equity share is expected to decline from Rs.110 to Rs.105 per share.

OR.

= ‘_-"j'l)‘i :

Q.2: One-up Ltd has equity share capital of Rs.5, 00,000 divided into shares of Rs.100 each.
It wishes to raise further Rs.3, 00,000 for expansion cum-modernisation scheme. [15 Marks]

The company plans the following financing alternatives:
a. By issuing equity-shares only. ; ¥ _
b. Rs.l ,OO,Q(_}vO.f,___I_Sygigs_l{ing‘ éjgl{i\ty_s.hargs and RsZ,OQ,OOO th;ough debentures or term loan
@ 10%peraﬂﬁum SRR oS S ST (P e -
c. By raising term loan only at 10% per annum. ;
d. Rs.1,00,000 by issuing equity shares and Rs.2,00,000 by issuing 8% preference
shares. :
You are required to suggest the best alternative, giving your comments assuming that the
. @gt’imafed_\Earpjngé Before Interest and Taxes (EBIT) after expansion is Rs.1, 50,000 and

= corporate rate of tax is 35%.

Q3 Ep]lo‘\"z\z_iing are_the{'aetéi'l.s regarding three companies A Ltd, B Ltd and C Ltd.[15 Marks)

A'Ltd B Ltd CLtd

Internal Rate of Return 15% 5% 10%

£ o | Costof Equity Capital 10% 10% 10%
' & o | Earningspershare =~ | Rsg§ Rs.8 Rs.8

'Ca_\.jﬁtu__la'_i_éi \fé!tié;_pfjﬁi:_l'qgl’.;ify share of each of these companies as per Walter’s Model
-~ when the dividend payout ratio is:

Lo

a) 50%
by 75%and
e): 25% V4SS
; OR
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Q.3: A) A project involves cash inflows as given below: [08 Marks]
Year Cash Inflow (Rs.)
1 20,000
2 24,000
3 30,000
4 40,000

If the rate of interest is 15%, find out present value of cash inflows. (Cdnsider‘”upto
two digits after decimal)

B) Following is the Capital Structure of a firm: ¢ 107 Marks]
X o Rs. |- _
Equity Capital o 4,50,000 \
Retained Earnings 1,50,000 |
Preference Share Capital 1,00,000
Debts 3,00,000
10,00,000
The firm’s after tax component costs of-various sources of f' inance are as follows
Sources : - . Cost '
Equity Capital ~ - ' 14%
Retained Earnings 13%
Preference Capit%il 10%
Debts 4.5%

Calculate szighted Average Cost of Capital of the firm,

Q.4: A) Match the_--.followmg.\. by rewnt_mlg- t_he columns A & B by matching on an overall

2

most appropriate basis: [08 Marks]
NSRS =3 B
D‘iﬁi‘dend_ VAN, -8, Cost which has been incurred
2.. Liquidity - | b:SStream of constant cash flows occurring
: . " atregular interval
3. -Historical Cost™ < & " < ¢ c. Convertibility into cash
4. Wealth Maximisation d. Proportion between two figures
5. Annuity e. 2:1
-6, Ratio~ P A f. 1:1
= 7. Shndard Current Ratlo g- Objective of financial management
8. Standard Liquid Rgtlo_ h. Part of profit distributed
12287 Page 3 of 4

0C2D777098F63A6EE2ADAOFES87C9189




Pape;' / Subject Code: 66703 / Corporate Finance

B) State whether the following statement are True or False: ; [07 Marks]

Compounding technique shows present value.

All current liabilities are quick liabilities.

Dividend to equity shareholders reduces tax liability. _
An ideal capital structure is one which maximises market value.per share. :
External loan affects the dividend paying ability of the organisation. =~ =~ -
Trading on Equity is used to increase EPS. v : :
The profit maximization goal ignores the timin g of returns, does not directly consider
cash flows and ignores risk. " : : :

Nk~

OR
Q.4: Write Short Notes on any Three: _ [15 Marks]
1. Classification of Cost of Capital : £ .
2. Importance of Financjal Management . TR i
3. Business Risk : i 5o
4. Factors determining Dividend Policy:
5. Modigliani and Miller Theory
_:fe'%#.*‘**.\*;%Q\\t_*r_%# *;;% *:g* 9 e
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Paper /Subject Code: 71803 / Cost & Management Accounting _95_(:: _2@{3

WM. Com ~ & S SR oo
Se/M) "'fl_. : ..
Time: 2 Hours Total Marks: 60 <

N. B.: (1) AH questions are compulsory carrying equal marks.
(2) Support your answer with required working notes.
(3) Round off upto two decimal points.
(3) Use of simple calculator is allowed.

1. Prepare a Cash Budget for the three months ending 30" June from the following information. - COa
[15 Mar ks}"_-

Month Sales Materials Wages Overheads

Rs. Rs. Rs. R,
February 1,40,000 96,000 30,000 17,000
March 1,50,000 90,000 30,000 19,000
April | 1,60,000 92,000 32,000 20,000
May 1,70,000 1,00,000 36,000 - 22,000
June 1,80,000 1,04,000 40,000 23,000

(@) Credit terms are- Sales/Debtors -10% sales are on cash, 50% of the credit salesare. collected
next month and the balance in the following month.
(b) Creditors — Materials 2 months
Wages Y month.
Overheads }; month :
(c) Cash and Bank balance on 1** April is expected to be Rs.60,000.
(d) Other relevant mformanon /e o -
(1) Plant and Machmery will be installed in February at a cost of Rs.9,60,000. The
monthly instalments of Rs.12,000 are payable from April onwards.
(ii)  Dividend @ 5% on preference share capital of Rs.12,00,000 will be paid on 1% June,
(iiiy Advanceto be rec;c;ved for sale of vehicles Rs.90,000-in June.
@iv) Dlwdends from mvestnents amountmg to Rs. lO 000 are expected to be received in
June. I
) ’lncomc tax (advancc) to bc paud in i une is Rs.20,000.

1. A factary is: curmnﬂyWorkmg at 50% capacrty z[mi produces 10,000 units. Prepare a Flexible
Budget and estimates. ﬁ"te Profits of the Company When it works at 60% and 80% capacity and
advise the Cgmpany At60% working, Raw Material Cost increases by 2% and selling price falls

_by 2%. At 80%, Raw Material cost increases by 5% and sclling price falls by 5%. At 50%
,'capacity workmg the product costs Rs.1 80 pe: 4nit and is sold at Rs.200 per unit.

_ [15 Marks]

'_The u’mt cost of Rs 180 1s made upas follows

“sMaterigh, - & TLUES S Re100
: .'Labour S lsAvs -f-',;_ 2 2 R8.30

',Factory Overheads. -~ -2 =~ Rs.30 (40% Fixed)

- &Administrative Overhﬁads * Rs:20 (50% Fixed)
- Also fi f' nd out Break Evcn Pomt at the above stated capacity utilisation.

"_\«‘-\ -"‘-

FLE "2..'_'-""Mah1 T(ansport Cdmpany operates a Luxury bus, which runs between Delhi to Jaipur and back

. . for 10 days in a_month. The distance from Delhi to Jaipur is 270 Kms. The bus comnletes the
,'tnp from Delh: to Jalpurand comes back on the same day. The bus goes on a Delhi-Ag;.

10'days’in a.month, The distance from Delhi to Agrais 180 Kms. This trip is also completed on

- the same day. For' 4 ‘days of its operation in a month it runs in the local city. Daily distance

o .covercd in thc Clty is 65 Kms. The other information is given below:

[1S Marks]
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Particulars Amount (Rs.)
Cost of Bus - 15,00,000 |
Depreciation 15% per annum
Salary of Driver 9,000 per month
Salary of Conductor - 8,000 per month
Salary of Part Time Accountant 4,500 per month
Insurance 10,800 per quarter
Diesel . 49 per litre
Distance covered per litre - Rk & 40
Token Tax 8,100 per quarter
Lubricant Oil 300 per 100 kms
Repairs and Maintenance 8,000 per month
Permit Fee JETE - 13,050 per quarter |
Normal Capacity N : 50 persons

The bus is generally occupied 90% of the capacity when it goes to Jaipur and 80% when it goes
to Agra. It is always full when it runs within the city. Passenger tax is 25% of the fare.
Calculate the rate the company should charge a passenger when it wants to earn a profitof 33%%
on its revenue. Pl S R T : oo
o S S R R S g
2. The standard mix to produce one pnit of product.is as follows. ' ] [15 Marks]
Material X  60.units@Rs.  15perunit= | Rs. 900 |
Material .- 80 units @ Rs. 20 perunit= | Rs.1600
Materiglvz.-'_?"I_E)(_)_’.I‘I_‘_r-iits-@"Rs._ 25 per unit = Rs.2500
- 240 wpits - oy 5,800

e Sl

o ng e month@f_gprjj; I0-”\“1_1'&;"’"_"‘”3?3-'ac_tuall,};; produced and actual consumption was as
follows: PTG e o 0 s )

~:Material X640 nits @ Rs. 17,50 per unit= | Rs, 11.200
* [ Material ¥ 950 units @ Rs. 18 perunit = Rs.17,100
nits @-Rs. 27.50 per unit = Rs.23,925
ST S A 52,225

o e

2T

Calculate the foflowing: =~
. Material Cost varidrice
2. Material Price Variance ...
3. “Material Usage variance” < -

« 4 Material Mix Variance™ .~ -

© 5. Material Yield Variance < -

S e o L N S i i § :._'}_-:u'. “- ‘ L :
3. Accomnpal y.annually manufacturesand sells 20,000 units of a product, the selling price of which is

Rs.30 and profit camied isRs. 10 per uit. [15 Marks]

(i)~ ontribution‘per unit
S S PR S &

R T a o 1) o Break:Even Sales in Rs.
A0 (V) Break Even Sales in Units

. 2 <
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Paper / Subject Code: 71803 / Cost & Management Accounting

(v) Sales required to earn a profit of Rs.4,00,000
(vi)  Profit when sales is 18,000 units
(vii)  Margin of safety when actual sales is Rs.7,00,000

OR -

3. The Cost Sheet of a product is as follows: [15 Marks} e

Particulars Rs. Per unit g

Direct Material 10

Direct Wages 5

Factory Qverheads:

Fixed )%

Variable 2

Administrative Expenses (Fixed) 1.5

Selling and Distribution Expenses: 3

Fixed - 0.50

Variable |

Cost of Sales 21

The selling price per unit is Rs.25. The above cost infor mation is for an output of 50,000 units,
whereas the capacity of the firm is:60,000 units. A foreign customer is desirous of buying 10,000
units at a price of Rs.19 per unit. The extra cost of exporting the product is Rs,0.50 per unit. You
are required to advise the manufacturer whether the order should be accepted?

4. (A)Rewrite the entire. sentencc selectmg the most appropnate a]tematwe with the given serial
no.s without altering; thc orderr’sequence : : {08 Marks]
1. Fixed Costs are f Xt;d < TR e
(a) Totally 268
(b) Per umt

(). Ideal_,__standagd F _:- FOEL
(b) Expected Stanc?ard STEFE &S
(¢) Current Stmda@ S ¢ oAt eatl)
"__(d) Norma[ Standard ; _.:'.': b
"3, 'Whlch Dne ofthe”fo]lowmg items would not be included in a cash budget?
23 Capltal repayments on 1oa.ns -
A (DY Depreciation. Charges
-+ 2 (o) Dividend: payments .
S (d) Promds ;}f sale u;;f ﬂ‘xed assets
LEOTE ',_-"-":4.-'--Saies budgetshows >
T o & (a) Estirate, otﬁ!furc Sales
S - (b) Estimate- ofﬁlture productuon
= .7 (c) Estimate of j mvcntorjy
=~ 2 (dy None'of t_he&abov_e
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5. The object of hotel costing is to find out cost
(a) Per table
(b) Per room
(¢) Per bed
(d) Per visitor

6. Garage rent is
(2) Semi variable
(b) Variable cost
(c) Fixed cost
(d) None of these

7. When sales increases then break even pomt
(a) Increases
(b) Remains constant
(c) Decreases
(d) None of these

8. Overhauling is classified z as_ _
(a) Fixed cost o
(b) Semi fixed cost .

(c) Maintenance c@st

(B)Match the foﬁow:ng'hy Eﬂ!‘ltlng the columns ‘A & B by matchmg on an overall most
i 5 [07 Marks]

S Y

1 Contflhutlon

.. -a.- Controllable Cost
2.Key Factor sy e - -b.. Diawn for one level
3. Fixed Budget~ - _¢. - Sales —Variable Cost
4.Flexible Budget - d. Margin of Safety in Value x P/V Ratig

| 5:Goods transport .~ .. | _ €. Limiting Factor
E [ 6Last Which, cﬁmtgtbemﬂucneed f ‘Drawn for multiple levels
’ by the Goncef’ned:ﬁqﬁt@cﬂtm

L T Pmﬁi Y ol o SO S ':g : Pcr Ton —-K.M
R 3 or
__\' 4 X Wnte Short Notes on aﬁy Tflree [15 Marks]
5 ' 8 gmf 1cangg of Contﬂblfnpn 2.5
& 2. Labour Varxance ¢ 4
o 3,‘_\_1$alas Budget - . e
<7 4. Operating Costmg Qf_ Hosplta!
e A S m’xtatwns of Budgetaty-COntrol
'. : K o ok ok o o
\ Page 4 of 4
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Paper / Subject Code: 66704 / E - Commerce
Me (ot a

Se L s
Time: 2 Hours Total Marks: 60

N.B: 1) All questions are compulsory.
2) Figures to the right indicate full ma]}‘k's’.,; :

Q. 1. (a) Explain the term E-Commerce. What are the main activities involved in it? ~ (15)

(b) What are the various challenges of E-Commerce?

OR
(c) Briefly describe characteristics of B2G mode[ Of E Commerce k LS S (15)
(d) Write a note on E-Commerce Sales Product Llfe Cycle (ESLC) Modei |

Q.2.  (a) Explain the role of websne in B2C E- -comrerce. : A 4 (15)
(b) What are the related new technologies used i in E- Commerce'? |
: OR :
(&) Discuss different types of E-CRM. ~ =~ . . . _ (15)

(d) How Con\fentional and E-organization are different? Explain.

Q3. (a Wnto a note on wob advertlsements.\ SRl (15)
(b)J ustlfy an internet business. w1rh su1table examp[es :
OR
(c) Bneﬂy dlscuss the SET protocol for. cred it card payment. i (15)

5 .(‘d) Descrlbe operatlonal and legal risks of E -payment system.

"
.....

Q4. “A) Fillin the blanks wnth approprlate options. (05)
; 1')'\" _____isanIndian fashion e-commerce company.
a) Myntr:a : SV RS b) Shadi.com

PEEE c) Grofers N Lo : d) Croma

2) In Ecommerce BZG stands for

a) Business to Gramin b) Business to Govern
- ¢) Business to Geographic d) Business to Government
Page 1 of 5
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4)

Q. 4.

1)
2)
3)
4)
5)

Paper / Subject Code: 66704 / E - Commerce

webs-ite helps to find ideal hotel and compar'e;.itg;pr‘j‘(‘;fg}* :
a) Trivago b) Trial FAPRTIts

c) Trust d) Trade

benefit arises out of online shopping.

a) Touch and Feel Experience b) Comparative shoppmg < SORCPS S z
¢) Substandard Goods d) Allof these .+ .0 = A
is the software security tools used for safety of network

a) Nmap b) Spam
¢) Neophyte d) Phishing

B) State whether the following statements areTrueor F,alse. R 5 s (05)

P2P is one of the models of E- Commerce AR B S \
Own website does not help in promotion of products
Article marketing refers to writing and submrttmg articles to web article directories.

Firewall is one of the kinds of oyber-crlme i “

Private Key is used for data decryptlon

C) Match the: Column T3 ‘-‘\ A ISR SEVR RN (05)

Group A~ 7 Group B

1) Fee-based B2C 'model ' _.a) E- Marketlng Techmque

2) Pull marketmg approach 3b) Credrtklsk

3) I’ay Per Cl:ck Advertlsmg ) -(-;yber,Law :

) Bui’glary T T ) Netfix

it 5).: ECQWAS’ POET e)-_':Eﬁ‘orts to create brand loyalty

b .. OR
Write Short notes on (Any Three) (15)
E-mail Abuse _
Importance ofEIectromc Records as Evidence

r

'Risk management approach to E-commerce security

' 4) Sources of Threats m E-commerce

Electr_omc Slg_nature

K Page 2 of 5
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M. com Sem-1 (cres) Exam — December 208

D ke 2 \\1 2 \ 2218  Paper/ Subject Code: 71802 / Economics for Business Decision -

Slwbiect
Q.1
a)
b)
c)
d)
Q.2
a)
b)
c)
d)
Q.3
a)
b)

- CeonormicS o Budined! Decision

[Time: 2 Hours]

7 Mdrksﬁﬂ]

Please check whether you have got the right questlon paper 30
N.B: 1. All questions are compulsory. : Y

2. Figures to the right indicate full marks.

3. Draw neat diagrams wherever necessary.,

o

Explain the determinants of demand. : e R S S :
“Tangency between indifference curve and price [ma:s a nec’essary«condmon but‘nﬁt &Suff' meut 08
condition for consumer’s equilibrium”, Dlscuss A A : ¢ >

OR o &
Explain the minimum wage controversy. ~ = =
Explain the concept of Bandwagon effef"t an':! V.,bIPn eff'e*‘t

“The firm can maximize its profits by emplaymff 1he factors in opnmal 'ombmatrons at which the 07
cost of production will be minimum®, Explam :

Explain the law of variable propomon w1th sultab]c iﬂustratlon and dtagr&a Y 4 08
OR o8& Vo SRS g
Write a note on — ‘Leammg«:urvc &> 07

08

The total cost schedule of a2 f irm is glven beiow from\thls derlve the TFC TVC, AFC,AVC, ATC

and MC of the firm.
Output
(units) S 5
TC (Rs,); .60 =~

162 360

K .:'I.'Iz;o‘\.' .. T >

Explain tbe equ}hbnum ofa dlscmnmatlm_, monopolzs{ with the help of a suitable diagram.

07

Explam\mth he!p of su1tab[e dlggz‘am equithum ofan ol[oopoly firm facing kinked demand 08
curve: _ : \ 5 _

;i[am the m "thods of mea&unng monopoly POWET, 07

\ Alen and}'ack Vere: mvo!ved in the drug selling. They were caught by Drug Enforcement 08

¥ Admm: ration but thcy had msuﬁ'lcmnt proofiand hence they require a testimony from either of
.- them. f.ogo ahead. with the

osecutlon Both of them will be interrogated separately and do not

4 come inany Kind of contact what soever.

N n)

G060

&3 On the basis of above pay off matrix..
B

aspects: dD not. want to enid up in jail.

_\\Followrng ist the pay off matrix forAlen and Jack.

Alen Confess
8 years, 8 Years,
20 years,0 years

Alen Don’t Confess
0 vears, 20 years
! bmonths, 6 months

] \"Jac'k Cbnfess :
Lo JackuDon toonfcss

‘.' \ \"

£

Explain the basic concepts used in the game theory.
DlScuss dﬂemma of both suspects Alen and Jack

Pagelof4
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Q.4

Paper / Subject Code: 71802 / Economics for Business Decision -

fucd

a) State whether the following statements are true or false DAL M B e
i) Business economics is the applications of economics to business deczsmns 2 e D
ii) In a market economy prices act as incentives and 51gna!s S
iii) Profit is maximized at a point where total revenue is greater than total cast : AR
iv) Economic profit= Total revenue — Explicit cost S SRR
v) The imperfect information is a source of market failure. A N
vi) Market failure does not occur in the case of public goods, " .. E T
vii) Allocative efficiency occurs when goods and services are’ dlstnbuted accord
preference. i ;

;ngta *consumex ;

b) Give precise meaning of the following
i) Externalities

ii) Cpportunity cost

iif) Public goods

iv) Accounting Profit S §

Write short note on any three of the fol}_cj'\';?__iﬁ}g 73 15

a) Scope of Business Economics
b) Production possibility frontier .
c¢) Expansion path

d) External Economies
e) Cartels

Page 2 of 4
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Q.1

Q.2

Q.4

_2) GDP deflator is the ratio of
R & a) nommal mcome to real income

Paper / Subject Code: 66702 / Macro Economics Concepts & Apphcatlons_

Sewn - L __ __w_\.- &
Mrlom~ 23 Q.P. Code: 395885 5o 38 &S
[Time: Two Hours] «“ { Ma rks 60]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. Draw neat diagrams wherever necessary.

Discuss the concept of ASF and ADF. Explain the determmatlon of real mcome W1th the help of

ASF and ADF. F RN DR T T A SR (15)
A) Explain the concept of inflationary gap and bring out its relevance : (07)
B) Examine the policy trade-off between inflation and unempfoyment in the short run. S (08)

a) Discuss the equilibrium in goods market. Show how s]0pe of the IS curve affeets level of real  (07)
income and rate of interest

b) Explain the equilibrium in money: market Show how slope of the LM curve affect level of real (08)

income and ratio of interest. ST & & S ST sl
OR- = 3 s

¢) Explain determination of real income and ra“te of'i interest, w:th the help. of IS LM curves. 07)
d) Discuss the factors causmg shift i mn IS-LM curves. o (08)
a) Discuss the problem of disequilibrium in BOP in an open economy : (07)
b) Explain how expend1ture sw:tohmg pohc;es help to reduce deﬁcnt in-the BOP. (08)
c¢) Explain the adjustments 111“ BDP Wlth '_the:h’glp, ofmonetaty pohcy in IS-LM frame work. (07)
d) Discuss the adj dj ustments in BGPWlth théﬁhelp of. ﬁsca(l p@hcy in IS-LM model. (08)
A) Select the correct answer and rewrlte the: statements 3 07)
1) In an open economy GNP'is computed by add:ng ~~_inthe GDP.

a) Net exports and Net factor i income from abroad

b) Net exportsand NNP -~~~ 5 IS

¢) Net factor income from abroad and NNP

d) None ofthe above = . & = NI J

b) real ihcome to nominal i income-
c) GDP to GNP ’
d) None of the above

' 3) Real rate of interest is the defereuce between

a) Nommal rate of interest and rate of inflation
b Nommal rate of i interest and rate of deflation

:- 5506 Nommal Tate of mterest and Tate of depreciation

> d) None of thé above” = ° >
4) National income is the sum of value of aggregate income produced by the
- a) Service sector -

b) Secondary sector

¢) Primary sector

.d)all of the above

Pagelof4
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5) NDP is arrived at by deducting from GDP.
a) Capital consumption expenditure
b) Net indirect taxes ’
¢) Net exports
d) None of the above

6) PPP income helps to compare GNP
a) across countries
b) across sectors
¢) across countries and sectors
d) None of the above

7) If the real rate of interest is positive then
a) Net capital inflow will increase
b) Net capital inflows will decrease
¢) Net capital inflows remain constant
d) None of the above

—_—

B) State precise meaning of the following: : (08)

1) Capital consumption expenditure '

2) Inflation

3) Aggregate income : P P

4) Price Index ; S S P S

.'  (}I{\ a8 e S

Write short notes on any Three o ; S (15)

I) Expenditure method of measuring National Income

2) Dimensions of HPI :
3) Long run Phillips Curve
4) Crowding out effect

5) J-Curve effect

Al

Kk K e

Page 2 of 4

A4426] FC827BC4A649990D07505B3B75



Paper / Subject Code: 66701 / Research Methodology for Rusiness @&C et Q.OfB

M‘ IS W r—: - \‘\ ;\'QI J\\N \ i
[Time: Two Hours] s I Marksﬁ[}] Gy

Please check whether you have got the right question paper. -
N.B: 1. All questions are compulsory. '
2. Figures to the right indicate full marks.

Q.1 What is Research Design? Explain its essentials and various steps in Research Design. i3 15 sl
OR ' TR
a) Discuss various objectives of research. - 08
b) Explain in brief different types of hypothesis. : 07
Q.2 What is Questionnaire in Research Process? Explain in brief steps in‘designing questionnaire. 15
Discuss various types of Questionnaire.
a) Distinguish between Primary Data and Secondary Data. A . © 08
b) Explain the significance of secondary data. Tal T 07
Q.3 Explain the meaning of Data Processing. Discuss in detail Graphical Presentation of Data 15
Processing.
OR
a) Explain positional measures of Central Tendency. 08
b) Discuss in brief different types of Regression Analysis. 07
Q.4 a) State whether the fo!léiyi’r_\lg statements are True or False: A 05

1) Applied Researchiis designed to solve practical problems of the modern world.

2) Itis not advisable to.conduct a pilot study for finalizing the research design.

3) Collection of data from external secondary sources includes data from magazines, internet,
books etc.

4) Type Il error occurs when the researcher rejects a null hypothesis when it is true.

5) A bibliographic citation is a reference to a book, article, web page or any other published
source.

b) Fill'in‘the blanks with the help of proper options. 05/
L. is a proposition which can be put for a test to determine its validity.
(Research problem /Research Proposal / Hypothesis)
2 - test is used for proving hypothesis of smaller sample.
(z/f/t)
3. is the difference between maximum and minimum value in a series of data.
(Median /Mode/ Range)

© o o % When there is a long gap between data collection and presentation of final report, the
TN researcher may present report.
~ (Summary / technical / interim)
5. -are some of the ways to avoid plagiarism. "

(Quoting / Referencing / Both)
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¢) Match the following:

Group ‘A’ Group ‘B’
1) Descriptive Research a) Provides definite focus
2) Hypothesis b) Editing
3) Processing of data ¢) Significance of data interpretation
4) Decision making d) A way of keeping the flow of matter i
5) Footnotes ¢) Statistical Research
OR

Write short note on any three of the following:
a) Layout of Research Report
b) Modern Language Association (MLA)
¢) Plagiarism
d) Data sheet
e) Role of computers in Research.

Aok R ok
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Time: 2 Hours Total Marks \60-':'.' -

N.B: ~ 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1. (@) Explain the concept of Vision and Mission in strategic management k ':) R > A :(-!.:1) T
(b) Enumerate the benefits of strategic management. RIS : S
OR

(c) Define strategic management. Elaborate the various ﬁnanmal strategles G
(b) Describe the components of macro business environment. * 2

Q.2.  (a) Explain any two alternative strategies under the formulation' qf',str_a,tqgies,_'.. o : (15)
(b) Elucidate the SWOT analysis as a part of corporate portfolio analysis. O el e

(c) Discuss the factors affecting strategic choice ST . / ff_lS)
(d) Explain the limitations of budgetary control. R A SR N A

Q3. (a) Discuss the various external factors. af corporate renewal strategies S e (15)
(b) What is Strategic Alliance? Exp[am its importance in India, T ML

: "OR Rl = X0
(c) Enumerate the problems of PPP model in India. ' : oo SRS 15
(d) Highlights on the contnbutlon of IT sector in Indian busmess g
Q4.  A)Fill in the blanks WItﬁ 'appmpn'ate -aptwns ' P (5)
1. Strategy -------------<2 is the ﬂnai step of strategic management process

a) Formulatlon b} Imp}ementauon c) Evaluallon d) Plannmg

2. "fgctor of the busmess emnronment
c}'Macro d) E:xed ;
K I e bas;caliy starrfo-r shoﬂ term benef ts
a) Foreggn col laborat:on b) Franchlsee ¢) Diversification d) Joint venture
i ,
Q B) State whether the foHowing st&tements are True or False. (5)

1Y Reh‘enchment §traxegtes involve an extension in the scope of a corporation’s activities.
g 2) Busmess wvaluation is the first process of Merger and Acquisition.
S \‘3) PERTICPMHS the traditional method of controlling.
4} Franéiusmg is one{:f ‘the types of strategic alliance.
5) Successﬁzl entreprerfeur:s take risks.
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Q.4.  C) Match the Column,
” Sr.no. | Group A Group B R FEL EROLOR
i Focused low cost ___a) Toxic culture T s
2) Turnaround strategy b) Reduction of losses ‘ ;
3 Internal cause of renewal ¢) Mitigation TR o]
4) Strategic alliance d) Business leve] strategy - -7
5 Prevention disaster e) Company profitable again . |
o LEE .
Q4. Write Short notes on (Any Three) SR R ge
1) Reason for Growth of KPO ERR SR e RS
2) Operational reengineering S I S R R
3) Consequences of disaster : : e AN R
4) Process of business start-up R A S s < S SRR
5) Make in India model :
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